1.

L 0O O O [ L] [

20100 50 120

U
"bobodgbbobooboodbbooobbooo"dobboobboo
0000000 Galileo Galileil 0 O O

gobobbuogobooogbbooboobbuooobooobbooo
bbb obbuoodobbbooobbbooobbboooboo
gbobbogobooboboobobobuooboboboobboobbo
gbobogbbooooo»oobobgbbuooobbuooboboodaoo
gobbooobobooobuooobboobooobbooobboooo
gboboboobboobbuooobbuoobobobooobbooboboo
gobbobogoobobogo

ERN
UgddybbOo0Ob0OD000¢tOD0O0O0O0OUO0O000000O0OODOODOODO
gobobogdbodbc00bbooobbudybbooobbogn
O000y02z0000000000y=f(x)0000000000O00O0OO0O
gogboobogggobooo

D00y000000000000y=f(x)00000000000000
x000000Az0000002+A2000000y000000000
0000000000000000+200000000000000 200
0000 Az0000002+Az0000000000y000 AyO00O
000000 000000000000v=Ay/Az00000020000
00 A200000000y=f(z)000000000000000000
0000000000000 Ay=Af=flz+Az)— f(z)00000 A
0000000Az—0000000y0000 Af 000000000

Af = f(z+ Az) — f(z) = f (z)Ax, (1)
DDDDDfI(x)D Ar—00000000000000O
, flz+ Az) — f(z)

= 1 N s
f ('T) IMAz—0 Az

Af

= limaz_.o—, 3
ima 0N, (3)
af
dz’
gogoodg f(x)DDDDDDDD



3. 0oogog

00000 fz+A2x)0 20000 Az 00000000 ODOOOOOOO
00000 f(x)0 2000000000000 200000000000
Oo00ooooooooooooooooooooooooooonooon
goddoooooouooboouoodoooooooooonogoon
Oo0do0ooooooooooooooooooooooooooooon
gododooodooooooooioodoodooooooogon
O00o0ooooooooooooooooooooooooooooon
godoodooooooooooooooiooooouogoooon
ooooooon

godoooooooodooouooogooooon

000 000000000 Az000000000000 (z+ Az)?, (z+
Az)3, (z + Ax)"

=02

(z+Ax)* = 22{1+ & (Az/2) + 2 (Ag /)2 - - - 4 2lelaontl) (N g /pyn

2! n!

000000000 bOO0bOO0ObOO0bObO0ObOO0OD AODODOoDOoooooo
ogoooooooon
y = Ax?® + 2*

godooooooobobbboooo
3(z+ Az) + 1

5(x + Az)? + 6(x + Ax) + 10

(x+ Az)® +4(z + Az)* + 5(x + Az) + 1

4. 000000
gboboggbbuogbobooobbobbuooobobobbooboobo
0000 f(x)D0O0OD0O0O0DO0O0ODOO0O0O0OO0O0OO00OODOO0OOODOO
goboobogood

flotdn) = f@)+ @A+ 5 f @A + 3 fO@) (A + - 5)

1
+ @A) (6)
000000 f(x+Az) 00000000000 OODOOOOOOOOOO
000000000 (Ax) 0000000000000 OOODODODODOOO
gbbuogbbuooooobbuoobbuoobobuooobobobooooo
gobbbogdbbe=0000000000000O0ODOOOOLODODDO



gbgbodbobuobobobobboobobooboboboobobdao

exp(x)

exp(iz)

log(1 + z)

o0 xn
cosx + isinw (8)

[e%¢) x?n

Z(—l)nﬁ (9)

n=0

i(—l)"-lzn (1)

n .

gboboogbbuodgbbooobbobobbooobooobboaan
gobbobuoooobboooobobooon



